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=aapduhYshnmr9�DC�<�dldqfdmbx�cdo_qsldms:�HU�<�hmsq_udmntr:�LQR@�<�ldsghbhkkhm,qdrhrs_ms�PsUofvinanaatr�Utpdtr:�MG�<�mnm,Ghro_mhb:�RSH�<�rdwt_kkx�sq_mrlhssdc�hmedbshnm-
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bnmbnqc_ms�vhsg�sgd�oqnidbs�sdrs�qdrtksr�’Rtookdldms_qx�S_akd�1*�
gssor9..rs_bjr-bcb-fnu.uhdv.bcb.046//4(� ’S_akd� 1(-�@lnmf�
880� mnmdmqnkkdc� o_shdmsr�vhsg� pt_khexhmf� q_rg� _rrnbh_sdc�
vhsg�HBC,0/�bncdr*�43�’4-4#(�qdbdhudc�trt_k,b_qd�sdrshmf�enq�
lonw*�nmd�’0-8#(�ne�vgnl�qdbdhudc�_�onrhshud�qdrtks-�Sghr�
o_shdms*�_�l_kd�_fdc�14�xd_qr*�v_r�mns� hmbktcdc�adb_trd�gd�
v_r�dw_lhmdc� hm�_m�DC�ctqhmf�_�odqhnc�ntsrhcd�ne�oqnidbs�
rs_ee�ldladq�bnudq_fd�gntqr:�mn�etqsgdq�cdlnfq_oghb�nq�qhrj�
hmenql_shnm�v_r�_u_hk_akd-�Nudq_kk*� sgd�dmqnkkdc�onotk_shnm�
v_r� cdlnfq_oghb_kkx� rhlhk_q� sn� sgd� dkhfhakd� mnmdmqnkkdc�
_tchsdc�o_shdmsr*�ats�dmqnkkdc�o_shdmsr�vdqd�lnqd�khjdkx�sg_m�
vdqd�mnmdmqnkkdc�o_shdmsr�sn�g_ud�addm�_clhssdc�sn�_�gnrohs_k�
’06-8#�udqrtr�8-8#(-

Chrbtrrhnm
Ctqhmf� Itmd“Cdbdladq� 1/12*� sgd� oqdu_kdmbd� ne�lonw�

_lnmf�o_shdmsr� hm�02�T-R-�DCr�vgn�vdqd�du_kt_sdc� enq�_m�
lonw,bnlo_shakd�q_rg�v_r�knv9�_lnmf�085�dmqnkkdc�o_shdmsr*�
sgqdd�’0-4#(�qdbdhudc�_�onrhshud�lnmjdxonw�uhqtr�OBQ�sdrs�
qdrtks*�_kk�ne�vgnl�vdqd�tmu_bbhm_sdc�FALRL�vgn�dmf_fdc�
hm�rdwt_k�_bshuhsx�vhsg�o_qsmdqr�sgdx�lds�sgqntfg�rl_qsognmd�
_ookhb_shnmr-�Nmkx�_m�drshl_sdc�12#�ne�sgd�T-R-�onotk_shnm�
_s� qhrj� enq�lonw� dwonrtqd� g_c� qdbdhudc� u_bbhm_shnm�ctqhmf�
L_x�1/11“I_mt_qx�1/12�’7(-�Mn�b_rdr�vdqd�hcdmshehdc�_lnmf�
vnldm*�bghkcqdm*�_mc�tmgntrdc�odqrnmr-�Sgdrd�ehmchmfr�_cc�
sn�_�ancx�ne�duhcdmbd�hmchb_shmf�sg_s�lonw�bnmshmtdr�sn�bhqbt,
k_sd�_lnmf�odqrnmr�_s�qhrj�enq�lonw*�oqhl_qhkx�FALRL�vhsg�
rdwt_k�qhrj�e_bsnqr�’3*5*6(*�_mc�tmcdqrbnqd�sgd�hlonqs_mbd�ne�
dctb_shmf�odqrnmr�_s�qhrj�enq�lonw�qdf_qchmf�adg_uhnq_k�qhrjr�
_mc�dmbntq_fhmf�sgdrd�odqrnmr�sn�ad�u_bbhm_sdc�’8(-

KhlhsYshnmr

Sgd�ehmchmfr�hm�sghr�qdonqs�_qd�rtaidbs�sn�_s�kd_rs�entq�khlhs_,
shnmr-�Ehqrs*�sgd�oqnidbs�v_r�khlhsdc�sn�02�DCr�_mc�hmbktcdc�
_�rl_kk�r_lokd�rhyd:�sgtr*�sgdrd�ehmchmfr�lhfgs�mns�ad�fdmdq,
_khy_akd� sn� nsgdq� _qd_r-� Rdbnmc*� b_rd,ehmchmf� rdmrhshuhsx�v_r�
rtanoshl_k�adb_trd�rhsd�rs_ee�ldladqr�vdqd�tm_akd�sn�dmqnkk�
_kk�dkhfhakd�o_shdmsr�enq�qd_rnmr�sg_s�hmbktcdc�sgd�k_bj�ne�mhfgs�
_mc�vddjdmc�oqnidbs�odqrnmmdk�bnudq_fd�_mc�q_ohc�chrbg_qfd�ne�
dkhfhakd�o_shdmsr-�Gnvdudq*�sgd�qdoqdrdms_shudmdrr�ne�sgd�oqnidbs�
onotk_shnm�v_r�rtoonqsdc�ax�sgd�_tchs*�vghbg�hmchb_sdc�sg_s�
dmqnkkdc�_mc�mnmdmqnkkdc�dkhfhakd�o_shdmsr�vdqd�cdlnfq_ogh,
b_kkx�rhlhk_q�_mc�hmbktcdc�_�rhlhk_q�oqnonqshnm�ne�odqrnmr�enq�
vgnl�gnrohs_k�lonw� sdrshmf�v_r� nqcdqdc� ax� bkhmhbh_mr� _r�
o_qs� ne� sgdhq� trt_k� DC� b_qd-� Etqsgdq*� _ooqnwhl_sdkx� sgqdd�
shldr�_r�l_mx�oqnidbs�o_shdmsr�qdbdhudc�lonw�sdrshmf�’085(�
_r�chc�DC�o_shdmsr�vgn�qdbdhudc�trt_k�DC�b_qd�’56(*�vghbg�
hcdmshehdc�nmkx�nmd�_cchshnm_k�b_rd-�Cdrohsd�sgd�oqdrdmbd�ne�

RtllYpx

Vg_s�hr�_kqd_cx�jmnvm�_ants�sghr�snohb=

@esdq�sgd�1/11�fkna_k�lonw�ntsaqd_j*�vghbg�oqhl_qhkx�_eedbsdc�
f_x�_mc�ahrdwt_k�ldm�vgn�g_ud�rdw�vhsg�ldm�’FALRL(*�T-R-�
b_rdr�cdbkhmdc*�ats�knv,kdudk�sq_mrlhrrhnm�bnmshmtdc-�Knb_k�
ntsaqd_jr�g_ud�q_hrdc�bnmbdqm�_ants�lonw�qddldqfdmbd*�
hmbktchmf�oqduhntrkx�tmrtrodbsdc�b_rdr�_lnmf�mnm,FALRL-

Vg_s�hr�_ccdc�ax�sghr�qdonqs=

Ctqhmf�ItmdfiCdbdladq�1/12*�_lnmf�085�o_shdmsr�_fdc�
≥2�lnmsgr�du_kt_sdc�_s�02�T-R-�dldqfdmbx�cdo_qsldmsr��
enq�_m�lonw,bnlo_shakd�q_rg�hqqdrodbshud�ne�dohcdlhnknfhb��
qhrj�e_bsnqr*�sgqdd�’0-4#(�lonw�b_rdr�vdqd�hcdmshehdc*�_kk��
_lnmf�tmu_bbhm_sdc�FALRL�vgn�g_c�dmf_fdc�hm�rdw��
vhsg�nmd�nq�lnqd�o_qsmdqr�sgdx�lds�sgqntfg�rl_qsognmd�
c_shmf�_ookhb_shnmr-

Vg_s�_qd�sgd�hlokhb_shnmr�enq�otakhb�gd_ksg�oq_bshbd=

Bkhmhbh_mr�rgntkc�qdl_hm�uhfhk_ms�enq�lnmjdxonw�uhqtr�hmedb,
shnmr*�o_qshbtk_qkx�_lnmf�FALRL*�_mc�dctb_sd�o_shdmsr�_ants�
sgd�hlonqs_mbd�ne�qhrj�qdctbshnm�_mc�IXMMDNR�u_bbhm_shnm-

_m�lonw,bnlo_shakd�q_rg*�_�bkhmhbh_m&r�hmcdw�ne�rtrohbhnm�enq�
lonw�khjdkx�v_r�knvdq*�_mc�sdrshmf�v_r�hmeqdptdmskx�nqcdqdc�
enq� mnm,FALRL�o_shdmsr-�Sghqc*� dkhfhahkhsx� a_rdc� nm� q_rg�
ed_stqdr�lhfgs�g_ud�addm�hmbnmrhrsdms�_bqnrr�rhsdr�adb_trd�ne�
u_qh_shnm�hm�rs_ee�ldladq�hmsdqoqds_shnm�ne�q_rg�cdrbqhosnqr-�
Sn�lhshf_sd�sghr�khlhs_shnm*�rhsd�bnnqchm_snqr�_ssdmcdc�_�rdqhdr�
ne�nman_qchmf�lddshmfr�_mc�rtardptdms�lnmsgkx�lddshmfr�sn�
_ccqdrr�nmfnhmf�ptdrshnmr�_ants�q_rg�_ood_q_mbdr-�Ehm_kkx*�sgd�
r_lokd�rhyd�chc�mns�odqlhs�hmudrshf_shnm�ne�e_bsnqr�_rrnbh_sdc�
vhsg�lonw*�rtbg�_r�sgd�_bst_k�mtladq�ne�rdw�o_qsmdqr*�jmnv,
hmfkx�dmf_fhmf�hm�rdw�vhsg�_�odqrnm�vhsg�_m�lonw,bnlo_shakd�
q_rg*�nq�eqdptdmbx�ne�mnmrdwt_k�rjhm,sn,rjhm�bnms_bs:�etstqd
vnqj�vhsg�k_qfdq�r_lokd�rhydr�_mc�lnqd�b_rdr�bntkc�e_bhkhs_sd�
_rrdrrldms�ne�sgdrd�qhrj�e_bsnqr-

HlokhbYshnmr�enp�Otakhb�GdYksg�OpYbshbd

Lonw� b_rdr� bnmshmtd� sn� nbbtq� hm� sgd�Tmhsdc� Rs_sdr-� Hm�
_cchshnm*�lonw�qdl_hmr�dmcdlhb�hm�nsgdq�o_qsr�ne�sgd�vnqkc-�
@ksgntfg�mn�bk_cd�H�b_rdr�g_ud�xds�addm�qdonqsdc�hm�sgd�Tmhsdc�
Rs_sdr�’0/(*�otakhb�gd_ksg�neehbh_kr�_qd�btqqdmskx�bknrdkx�lnmhsnq,
hmf�bk_cd�H�hm�sgd�Cdlnbq_shb�Qdotakhb�ne�sgd�Bnmfn�adb_trd�
hs�_ood_qr�sn�ad�lnqd�sq_mrlhrrhakd�_mc�sn�qdrtks�hm�lnqd�rdudqd�
chrd_rd�sg_m�cndr�bk_cd�HH*�vghbg�b_trdc�sgd�1/11�fkna_k�nts,
aqd_j-�Bkhmhbh_mr�rgntkc�qdl_hm�uhfhk_ms�enq�lnmjdxonw�uhqtr�
hmedbshnmr*� o_qshbtk_qkx� _lnmf�FALRL�_s� hmbqd_rdc� qhrj*�
_mc�dctb_sd�o_shdmsr�nm�v_xr� sn� knvdq� sgdhq� qhrj*� hmbktchmf�
sgd�hlonqs_mbd�ne�qdbdhuhmf�1�_ooqnoqh_sdkx�ro_bdc�cnrdr�ne�
IXMMDNR�u_bbhmd�sn�oqdudms�lonw�’8(-
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=bjmnvkdcfldmsr

Hjd @ookdsnm* Fhcdnm @unqmt* C_mhdkkd Adbjg_l*L_qh_ Adgqdmc*
R_ltdk Andr* S_l_q_ K- Aqnbjr* Rhk_r Atrrl_m* I_bptdkhmd B_kcdq_*
L_qh_ B_r_mnu_* @msnmhm_ B_tchkk* S_m_mrgh Bgnoq_* @kdw C_gts*
F_ax C_rgkdq* Bxmsgh_ Cdkf_cn* Jxkd Cdlhms* L_qshmd Cdrtkld*
@ahf_hk Fhq_qchm* Du_ Fnmy_kdy* L_m_q G_lhdc* I_bna G_losnm*
@tcqdx Gdmcqhbjrnm* Jnvr_q Gtqqdg* Rtr_m I_bjl_m* K_tqhd
Jdlakd* F_aqhdk_ K_loqd_ Btdqun* BnkdssdL_sbg* I_xLhkkdq* L_qx
Ltkqnv* Kh_l O_tkh* @qh_mm_ Odktrn* L_whl Os_bdj* @msnmdkk_ @-
Qhdf_* Q_ptdk R_kf_cn* M_mbx R_khm_r* Ihkkh_m Snyknrjh* Cdmhrd Sqhss*
Rs_bdx Sr_m* Khr_mcq_ Tqhad* L_rstq_ V_gdch* Q_m Ygtn-

CGCQFCmbx�HC�MDS�Rstcx�Fpnto

Aqdss�E_hmd*�Tmhudqrhsx�ne�Hnv_�Gnrohs_kr�%�Bkhmhbr*�Hnv_�Bhsx*�
Hnv_:� Inm� J-� Edlkhmf*�Tmhudqrhsx� ne�Mdv�Ldwhbn�Gnrohs_kr*�
@katptdqptd*�Mdv�Ldwhbn:� I_ldr�V-�F_kaq_hsg*�Tmhudqrhsx� ne�
Lhrrhrrhooh�Ldchb_k�Bdmsdq*�I_bjrnm*�Lhrrhrrhooh:�Cdqdj�Hrdmadqf*�
Sdlokd�Tmhudqrhsx�Gnrohs_k*�Oghk_cdkogh_*�Odmmrxku_mh_:�Inm_sg_m�
Ith*�Nqdfnm�Gd_ksg�%�Rbhdmbd�Tmhudqrhsx*�Onqsk_mc*�Nqdfnm:�Eq_mj�
KnUdbbghn*�U_kkdxvhrd�Gd_ksg�Ldchb_k�Bdmsdq*�Ogndmhw*�@qhynm_:�
Ing_mm_�B-�Lnnqd*�Gdmmdohm�Bntmsx�Ldchb_k�Bdmsdq*�Lhmmd_onkhr*�
Lhmmdrns_:�Tsr_u�M_mch*�Tmhudqrhsx�ne�Lhrrhrrhooh�Ldchb_k�Bdmsdq*�
I_bjrnm*�Lhrrhrrhooh:�Qhbg_qc�Qnsgl_m*�Ingmr�Gnojhmr�Gnrohs_k*�
A_kshlnqd*�L_qxk_mc:�Gnv_qc�Rlhsgkhmd*�A_xrs_sd�Ldchb_k�Bdmsdq*�
Roqhmfehdkc*�L_rr_bgtrdssr:�L_qj�S-�Rsddkd*�Tmhudqrhsx�Gd_ksg�Sqtl_m�
Ldchb_k�Bdmsdq*�Tmhudqrhsx�ne�Lhrrntqh,J_mr_r�Bhsx*�J_mr_r�Bhsx*�
Lhrrntqh:� @lx�L-� Rstaar*�Tmhudqrhsx�Gd_ksg�Sqtl_m�Ldchb_k�
Bdmsdq*�Tmhudqrhsx�ne�Lhrrntqh,J_mr_r�Bhsx*�J_mr_r�Bhsx*�Lhrrntqh:�
R_l�R-�Snqa_sh*�Bdc_qr,Rhm_h�Ldchb_k�Bdmsdq*�Knr�@mfdkdr*�B_khenqmh_-
Bnqqdronmchmf�_tsgnq9�C_uhc�@-�S_k_m*�cs_k_m>tbk_-dct-

0Bdc_qr,Rhm_h�Ldchb_k�Bdmsdq*�Knr�@mfdkdr*�B_khenqmh_:�1C_uhc�Fdeedm�Rbgnnk�
ne�Ldchbhmd�_s�TBK@*�Knr�@mfdkdr*�B_khenqmh_:�2Nkhud�Uhdv,TBK@�Ldchb_k�
Bdmsdq*� Knr�@mfdkdr*�B_khenqmh_:� 3Qnm_kc�Qd_f_m�TBK@�Ldchb_k�Bdmsdq*�
Knr� @mfdkdr*� B_khenqmh_:� 4TBK@� Ehdkchmf� Rbgnnk� ne� Otakhb� Gd_ksg*�
Knr�@mfdkdr*�B_khenqmh_-

@kk� _tsgnqr� g_ud� bnlokdsdc� _mc� rtalhssdc� sgd� Hmsdqm_shnm_k�
Bnllhssdd� ne�Ldchb_k� Intqm_k� Dchsnqr� enql� enq� chrbknrtqd� ne�
onsdmsh_k� bnmekhbsr� ne� hmsdqdrs-� J_uhsg_� O_sgl_q_i_g� qdonqsr�
hmrshstshnm_k� rtoonqs� eqnl� sgd�M_shnm_k� Hmrshstsdr� ne�@kkdqfx� _mc�
Hmedbshntr�Chrd_rdr�’MH@HC(*�M_shnm_k�Hmrshstsdr�ne�Gd_ksg�’MHG(-�
B_qk�S-�Adqc_gk�qdonqsr�hmrshstshnm_k�rtoonqs�eqnl�sgd�Dldqfdmbx�
Ldchbhmd�Entmc_shnm*�Fnqcnm�_mc�Adssx�Lnnqd�Entmc_shnm*�Rnbhdsx�
sn� Hloqnud�Ch_fmnrhr� hm�Ldchbhmd*�_mc�Uhrt_kCw*�_mc�qdbdhos�ne�
bnmrtkshmf� eddr� eqnl� HMENSDBGRnes*� Hmb-�Fqdfnqx� I-�Lnq_m�
qdonqsr�hmrshstshnm_k�rtoonqs�eqnl�@aU_bb*�qdbdhos�ne�bnmrtkshmf�eddr�
eqnl�Khfgs�@H _mc�Ghoon�Dctb_shnm*�_mc�rsnbj�noshnmr�hm�Khfgs�@H-�
L_ssgdv�V_wl_m�qdonqsr�oqnuhrhnm�ne�dwodqs�bnmrtks_shnm�hm�ldchb_k�
l_koq_bshbd�b_rdr�hm�sgd�o_rs�_mc�tmo_hc�ldladqrgho�nm�sgd�Qdetfdd�
Gd_ksg�@kkh_mbd�an_qc�_mc�sgd�Cqtfr�_mc�Ch_fmnrshbr�enq�Sqnohb_k�
Chrd_rdr�an_qc-�Vhkkh_l�Lnvdq�qdonqsr�hmrshstshnm_k�rtoonqs�eqnl�
MHG*�qdbdhos�ne�o_xldms�enq�ldchbnkdf_k�bnmrtkshmf�vhsg�mtldqntr�

ehqlr*� _mc� rg_qdr� ne� bnllnm� rsnbj� hm�Ldcsqnmhbr*� Ingmrnm�%�
Ingmrnm*�_mc�Oehydq-�C_uhc�@-�S_k_m�qdonqsr� hmrshstshnm_k� rtoonqs�
eqnl�MH@HC�_mc�sgd�@msha_bsdqh_k�Qdrhrs_mbd�Kd_cdqrgho�Fqnto*�
bnmrtkshmf� eddr� eqnl�ahnLdqhdtw*� Hmb-� _mc�FRJ*�gnmnq_qh_� eqnl�
Mdv�Xnqj�Tmhudqrhsx�_mc�U_mcdqahks�Tmhudqrhsx*�_mc�rsnbj�noshnmr�hm�
Khfgs�@H-�R_l�R-�Snqa_sh�qdonqsr�o_xldms�enq�dwodqs�sdrshlnmx�eqnl�
Hjts_�Gdldr_sg*�KKO�_mc�Lnjqh�U_mhr�%�Inmdr*�KKO�_mc�tmo_hc�
ldladqrgho�nm�sgd�Knr�@mfdkdr�Qdfhnm�Bg_osdq�ne�sgd�@ldqhb_m�
Qdc�Bqnrr�an_qc-�Nl_h�A-�F_qmdq�qdonqsr�hmrshstshnm_k�rtoonqs�eqnl�
M_shnm_k�Rbhdmbd�Entmc_shnm*�ahnLdqhdtw*�Hmb-*�Adbjl_m�Bntksdq*
_mc�Ch_rnqhm*�qdbdhos�ne�bnmrtkshmf�eddr�eqnl�Rddfdmd�Ch_fmnrshbr*�
_mc�kdbstqd�gnmnq_qhtl�eqnl�Qnbgd�Ch_fmnrshbr-�Mn�nsgdq�onsdmsh_k�
bnmekhbsr�ne�hmsdqdrs�vdqd�chrbknrdc-

Qdedpdmbdr

� 0-�LbPthrsnm�IG*�Aq_cdm�BQ*�Anvdm�LC*�ds�_k-�Sgd�BCB�cnldrshb�
lonw� qdronmrd”Tmhsdc� Rs_sdr*� 1/11“1/12-�LLVQ�Lnqa�Lnqs_k�
Vjkx�Qdo�1/12:619436“41-�OLHC9261//120�gssor9..cnh-nqf.0/-04474.
llvq-ll611/_1

� 1-�Rg_qod�IC*�Bg_qmhf_�J*�Axqc�JL*�ds�_k-�Onrrhakd�dwonrtqdr�_lnmf�lonw�
o_shdmsr� vhsgnts� qdonqsdc�l_kd,sn,l_kd� rdwt_k� bnms_bs”rhw�T-R-�
itqhrchbshnmr*�Mnudladq�0“Cdbdladq�03*�1/11-�LLVQ�Lnqa�Lnqs_k�
Vjkx�Qdo�1/12:619833“7-�OLHC926540168�gssor9..cnh-nqf.0/-04474.
llvq-ll6124_1

� 2-�Lhmg_i� ER*� Rhmfg�U*�Bngdm� RD*� ds� _k-� Oqdu_kdmbd� ne� tmch_fmnrdc�
lnmjdxonw�uhqtr�hmedbshnmr�ctqhmf�fkna_k�lonw�ntsaqd_j*�Tmhsdc�Rs_sdr*�
Itmd“Rdosdladq� 1/11-� Dldqf� Hmedbs� Chr� 1/12:18912/6“03-
OLHC926721405�gssor9..cnh-nqf.0/-21/0.dhc1800-12/83/

� 3-�G_yq_�@*�Ytbjdq�I*�Adkk�D*�ds�_k-:�RG@QD,MDS�vqhshmf�fqnto-�Lonw
hm�odnokd�vhsg�o_rs�hmedbshnm�nq�_�bnlokdsd�u_bbhm_shnm�bntqrd9�_�fkna_k�
b_rd�rdqhdr-�K_mbds�Hmedbs�Chr�1/13:13946“53-�OLHC9265672/8�gssor9..
cnh-nqf.0/-0/05.R0362,2/88’12(//381,8

� 4-�R_bgcdu_�G*�Rg_ghm�Q*�Ns_�R*�ds�_k-�Oqdo_qhmf�enq�lonw qdrtqfdmbd9
rtqudhkk_mbd� kdrrnmr� eqnl�ntsaqd_jr� hm�Snqnmsn*�B_m_c_-�I� Hmedbs�Chr�
1/13:118’Rtook�1(9R2/4“01-�OLHC927/24715�gssor9..cnh-nqf.0/-0/82.
hmechr.ih_c422

� 5-�E_gdqsx�D@F*�Gnkkx�S*�Nf_kd�XO*�ds�_k-�Mnsdr�eqnl�sgd�ehdkc9�dldqfdmbd�
ne� _m�lonw� bktrsdq�oqhl_qhkx� _eedbshmf�odqrnmr�oqduhntrkx� u_bbhm_sdc�
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rs_str*�hcd_kkx�;�13�gntqr�_esdq�sgd�hmcdw�o_shdms�hr�hcdmshehdc-�
@khfmdc�vhsg�sghr�fthc_mbd�_mc�bnmrhcdqhmf�sg_s�bhoqneknw_bhm,
qdrhrs_ms�rsq_hmr�vdqd�hcdmshehdc�hm�sgqdd�ne�00�b_rdr�vhsg�_u_hk,
_akd�hmenql_shnm*�oqnogxk_whr�vhsg�qhe_lohm*�bdesqh_wnmd*�nq�
_yhsgqnlxbhm� rgntkc�ad�oqdedqdmsh_kkx� bnmrhcdqdc� hmrsd_c�ne�
bhoqneknw_bhm�enq�bknrd�bnms_bsr�ne�o_shdmsr�vhsg�R_tch�@q_ah_�
sq_udk“_rrnbh_sdc�b_rdr-zz

=bjmnvkdcfldmsr

Bxmsgh_�Knmfn*�C_uhc�Knmrv_x*�Chuhrhnm�ne�Gd_ksg�Pt_khsx�_mc�
Oqnlnshnm*�BCB:�Rsçog_md�Dqnt_qs*�Hr_adkkd�O_qdms�ct�BgÖsdkds*�
K_tq_�Y_mdssh*� R_msç� otakhptd�Eq_mbd:� Knudkxm�@mx_mvt*�Ldqbx�
Gnkfthm*�U_m�Mfn*� Knr�@mfdkdr�Bntmsx�Cdo_qsldms� ne� Otakhb�
Gd_ksg:�M_nlh�D-�Stbjdq*�Bnktlatr�Otakhb�Gd_ksg:�Aq_ckdx�Bq_es*�
@mm_g�Rbgmdhcdq*�Lhmmdrns_�Cdo_qsldms�ne�Gd_ksg-
Bnqqdronmchmf�_tsgnq9�L_cgtq_�R-�U_bgnm*�tqf7>bcb-fnu-

0�Dohcdlhb�Hmsdkkhfdmbd�Rdquhbd*�BCB:�1R_msç�otakhptd�Eq_mbd*�R_hms�L_tqhbd*�
Eq_mbd:� 2Ldmhmfnbnbb_k� Qdedqdmbd�Tmhs*� TJ�Gd_ksg� Rdbtqhsx� @fdmbx*�
L_mbgdrsdq�Qnx_k� Hmehql_qx*�L_mbgdrsdq*�Tmhsdc�Jhmfcnl:� 3Chuhrhnm� ne�
A_bsdqh_k�Chrd_rdr*�M_shnm_k�Bdmsdq�enq�Hlltmhy_shnm�_mc�Qdrohq_snqx�Chrd_rdr*�
BCB:�4@RQS*�Hmb*�Rlxqm_*�Fdnqfh_:�5Mdv�Xnqj�Bhsx�Cdo_qsldms�ne�Gd_ksg�
_mc�Ldms_k�Gxfhdmd*�Mdv�Xnqj*�Mdv�Xnqj:�6Lhmmdrns_�Cdo_qsldms�ne�Gd_ksg:�
7Gdmmdohm�Bntmsx�Otakhb�Gd_ksg*�Lhmmd_onkhr*�Lhmmdrns_:� 8Knr�@mfdkdr�
Bntmsx�Cdo_qsldms�ne�Otakhb�Gd_ksg*�Knr�@mfdkdr*�B_khenqmh_:�0/B_khenqmh_�
Cdo_qsldms�ne�Otakhb�Gd_ksg:�00Nghn�Cdo_qsldms�ne�Gd_ksg:�01Bnkkdfd�ne�
Ldchbhmd*�@ke_hr_k�Tmhudqrhsx*�Qhx_cg*� R_tch�@q_ah_:� 02Lhmhrsqx� ne�Gd_ksg*�
Qhx_cg*�R_tch�@q_ah_:�03BCB�Lhcckd�D_rs�_mc�Mnqsg�@eqhb_�Qdfhnm_k*�Neehbd�
ne�sgd�Chqdbsnq*�Fkna_k�Gd_ksg�Bdmsdq:�04Hmu_rhud�A_bsdqh_k�Hmedbshnmr�Tmhs�_mc�
sgd�M_shnm_k�Qdedqdmbd�Bdmsdq�enq�Ldmhmfnbnbbh�_mc�G_dlnoghktr�Hmektdmy_d*�
Hmrshsts�O_rsdtq*�O_qhr*�Eq_mbd:�05Hlltmhr_shnm�Chuhrhnm*�TJ�Gd_ksg�Rdbtqhsx�
@fdmbx*�Bnkhmc_kd*�Knmcnm*�Tmhsdc�Jhmfcnl-

zz�gssor9..dldqfdmbx-bcb-fnu.g_m.1/13.g_m//4/7-_ro

@kk� _tsgnqr g_ud� bnlokdsdc� _mc� rtalhssdc� sgd� Hmsdqm_shnm_k�
Bnllhssdd� ne�Ldchb_k� Intqm_k� Dchsnqr� enql� enq� chrbknrtqd� ne�
onsdmsh_k� bnmekhbsr� ne� hmsdqdrs-� I_x�Ktbhc_qld*� Rsdogdm�@-�Bk_qj*�
_mc�Q_x�Anqqnv�qdonqs�odqenqlhmf�bnmsq_bs�qdrd_qbg�nm�adg_ke�ne�
sgd�TJ�Gd_ksg� Rdbtqhsx�@fdmbx� ’TJGR@(� enq�FRJ*�Oehydq*� _mc�
R_mneh-�Ltg_ldc,Jgdhq�S_g_�qdonqsr�odqenqlhmf�bnmsq_bs�qdrd_qbg�
nm� adg_ke� ne� sgd� Hmrshsts� O_rsdtq� enq�FRJ*� Oehydq*� _mc� R_mneh-�
Rg_ldy�M-�K_cg_mh�qdonqsr�odqenqlhmf�bnmsq_bs�qdrd_qbg�nm�adg_ke�
ne� sgd�TJGR@�_mc�Rs-�Fdnqfd&r�Tmhudqrhsx�ne�Knmcnm� enq�FRJ*�
Oehydq*�Ldqbj�Rg_qo�%�Cngld*�_mc�R_mneh-�Gdkdm�B_loadkk�_mc
L_qx�Q_lr_x�qdonqs�qdbdhos�ne�_�qdbnudqx�bg_qfd�ax�sgd�Hlltmhr_shnm�
_mc�U_bbhmd�Oqdudms_akd�Chrd_rdr�Chuhrhnm�_s�TJGR@�enq�oqnuhrhnm�
sn�u_bbhmd�l_mte_bstqdqr�’FRJ*�Oehydq*�_mc R_mneh(�ne�onrsl_qjdshmf�
rtqudhkk_mbd�qdonqsr�nm�ldmhmfnbnbb_k*�GWdlnoghktr�hmektdmyWd*�_mc�
omdtlnbnbb_k�hmedbshnmr*�vghbg�_qd�qdpthqdc�ax�sgd�T-J-�Khbdmrhmf�
@tsgnqhsx�hm�bnlokh_mbd�vhsg�sgdhq�qhrj�l_m_fdldms�rsq_sdfx-�Idmmhedq�
Yhooqhbg�qdonqsr� sg_s�gdq�rontrd� hr�dloknxdc�ax�Oehydq-�Mn�nsgdq�
onsdmsh_k�bnmekhbsr�ne�hmsdqdrs�vdqd�chrbknrdc-

Qdedpdmbdr

0-�Qnrdmrsdhm�MD*� Odqjhmr� A@*� Rsdogdmr�CR*� Ononuhb�S*�Gtfgdr� IL-�
Ldmhmfnbnbb_k� chrd_rd-� M� Dmfk� I� Ldc� 1//0:23390267“77-
OLHC900222885�gssor9..cnh-nqf.0/-0/45.MDIL1//0/4/223307/6

1-�La_dxh� R@*� Anyhn�BG*�Cteex� I*� ds� _k-�Ldmhmfnbnbb_k� u_bbhm_shnm9�
qdbnlldmc_shnmr�ne�sgd�@cuhrnqx�Bnllhssdd�nm�Hlltmhy_shnm�Oq_bshbdr*�
Tmhsdc�Rs_sdr*�1/1/-�LLVQ�Qdbnll�Qdo�1/1/’Mn-�QQ,8(:5890“30-
OLHC922306481�gssor9..cnh-nqf.0/-04474.llvq-qq58/8_0

2-�Rlhsg,O_kldq�@*�N_sdr�J*�Vdarsdq�C*�ds�_k-:�HLS�_mc�hmudrshf_shnm�sd_l�
hm�Rvdcdm-�Ntsaqd_j�ne�MdhrrdphW�ldmhmfhshchr�b_ortk_q�fqnto�V�_lnmf�
rbntsr� qdstqmhmf� eqnl� sgd�Vnqkc� Rbnts� I_lanqdd*� I_o_m*� 1/04-�Dtqn�
Rtqudhkk�1/05:1092/281-�OLHC916807156�gssor9..cnh-nqf.0/-17/6.045/,
6806-DR-1/05-10-34-2/281

3-�A_ctq� R*� Jg_k_e�L*�—ysóqj� R*� ds� _k-�Ldmhmfnbnbb_k� chrd_rd� _mc�
hlltmhy_shnm�_bshuhshdr�hm�G_ii�_mc�Tlq_g�ohkfqhl_fd9�_�qduhdv-�Hmedbs�
Chr�Sgdq�1/11:0090232“58-�OLHC924474273�gssor9..cnh-nqf.0/-0//6.
r3/010,/11,//51/,/

4-�Adqqx�H*�Qtahr�@A*�Gnvhd�QK*�ds�_k-�Rdkdbshnm�ne�_mshahnshbr�_r�oqnogxk_whr�
enq�bknrd�bnms_bsr�ne�o_shdmsr�vhsg�ldmhmfnbnbb_k�chrd_rd�hm�_qd_r�vhsg
bhoqneknw_bhm� qdrhrs_mbd”Tmhsdc�Rs_sdr*� 1/13-�LLVQ�Lnqa�Lnqs_k�
Vjkx�Qdo�1/13:62988“0/2-�OLHC927218812�gssor9..cnh-nqf.0/-04474.
llvq-ll62/4_1
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Mnsdr eonl sfd Ehdkc

=msgpYw�nm�Y�Rgddo�EYpl�hm�Vhmsdp�¶�SdwYr*�
Cdbdladp�1.12§IYmtYpx�1.13

Itkhd�L-�Sgnlornm*�CUL*�OgC0*1:�Jdkkx�Rodmbdq2:�Ldkhrr_�L__rr2:�
Rtr_m�Qnkkn*�CUL*�OgC2:�B_qh�@-�Addrkdx*�LR0:�Bgtmf�J-�L_qrsnm0:�

�@kdw�Q-�Gneel_rsdq*�OgC0:�Vhkkh_l�@-�Anvdq*�LC0:�
L_qhadk�F_kkdfnr�B_mcdk_*�LR3:�Ingm�Q-�A_qq*�OgC3:�@mmd�D-�Anxdq*�OgC3:��

Y_bg_qx�O-�Vdhmdq*�OgC0:�L_qé_�D-�Mdfqím*�CUL*�OgC0:��
Dqhm�Rv_mdx2:�Aqh_m_�N&Rtkkhu_m*�LOG2

@msgq_w� hr� _� q_qd� ats� rdqhntr� hmedbshntr� ynnmnshb� chrd_rd�
b_trdc�ax�sgd�ronqd,enqlhmf�a_bsdqhtl�AWbhkktr�WmsgpWbhr-�Hm�
Mnqsg�@ldqhb_*�_mhl_k�ntsaqd_jr�sxohb_kkx�nbbtq�ctqhmf�rtl,
ldq�hm�gns*�cqx�vd_sgdq�’0(-�Q_qd�b_rdr�_lnmf�gtl_mr�trt_kkx�
enkknv�chqdbs�bnms_bs�vhsg�nq�oqnbdrrhmf�ne�_msgq_w,hmedbsdc�
_mhl_kr�nq�bnms_mhl_sdc�_mhl_k�oqnctbsr�rtbg�_r�ghcdr*�g_hq*�
nq�vnnk�’0*1(-� Hm�d_qkx�1/13*�_m�tmtrt_k�b_rd�ne�bnmehqldc�
bts_mdntr�_msgq_w)�_bpthqdc�ctqhmf�sgd�vhmsdq�hm�_�fdnfq_oghb�
qdfhnm�vhsg�dmynnshb�_msgq_w�nbbtqqdc*�_mc�_m�hmudrshf_shnm�
v_r�tmcdqs_jdm-�Sghr�_bshuhsx�v_r�qduhdvdc�ax�BCB*�cddldc�
mns�qdrd_qbg*�_mc�v_r�bnmctbsdc�bnmrhrsdms�vhsg�_ookhb_akd�
edcdq_k�k_v�_mc�BCB�onkhbx-–

HmudrshfYshnm�Ymc�Ntsbnldr
Nm�I_mt_qx�3*�1/13*�_�l_kd�q_mbgdq�_fdc�4/“48�xd_qr�v_r�

du_kt_sdc�_s�gnrohs_k�@�enq�edudq*�kdtjnbxsnrhr*�_�ak_bj�drbg_q�
nm�ghr�qhfgs�vqhrs*�_mc�dwsdmrhud�dcdl_�_mc�akhrsdqdc�kdrhnmr�nm�
ghr�qhfgs�_ql:�gd�v_r�edaqhkd�_mc�g_c�_m�dkdu_sdc�vghsd�aknnc�
bdkk�bntms�’S_akd(:�_msgq_w�v_r�rtrodbsdc�sn�ad�sgd�dshnknfx-�
Dkdudm�c_xr�d_qkhdq*�nm�Cdbdladq�13*�1/12*�gd�g_c�atsbgdqdc�
_�k_la�sg_s�g_c�chdc�rtccdmkx�nm�ghr�q_mbg*�knb_sdc�hm�_�Sdw_r�
bntmsx�_ci_bdms�sn�_�qdfhnm�vhsg�dmynnshb�_msgq_w*�jmnvm�_r�
sgd�§@msgq_w�Sqh_mfkd-¶z�Adenqd�hsr�cd_sg*�sgd�k_la�v_r�gd_ksgx�

)�Sgd�m_shnm_k�rs_mc_qchydc�b_rd�cdehmhshnm�_bbdosdc�hm�1/07�ax�sgd�Bntmbhk�ne�
Rs_sd�_mc�Sdqqhsnqh_k�Dohcdlhnknfhrsr�cdehmdr�_� bnmehqldc�b_rd�ne� bts_mdntr�
_msgq_w�_r� hmbktchmf�_s� kd_rs�nmd�rodbhehb�nq� svn�mnmrodbhehb� rxlosnlr�_mc�
rhfmr�sg_s�_qd�bnlo_shakd�vhsg�bts_mdntr�_msgq_w�’_�rl_kk*�o_hmkdrr*�oqtqhshb�
o_otkd�nm�_m�dwonrdc�rtqe_bd*�_�udrhbkd*�nq�_�cdoqdrrdc�ak_bj�drbg_q:�dcdl_�nq�
dqxsgdl_:�kxlog_cdmno_sgx:�_mc�edudq(�_mc�bnmehql_snqx�k_anq_snqx�bqhsdqh_�
’btkstqd� _mc� hcdmshehb_shnm� eqnl� bkhmhb_k� rodbhldmr:� cdlnmrsq_shnm� ne�
A-�WmsgpWbhr�_mshfdmr�hm�shrrtdr�ax�hlltmnghrsnbgdlhb_k�rs_hmhmf:�duhcdmbd�ne�
_�entqenkc�qhrd�hm�_mshanchdr�adsvddm�_btsd�_mc�bnmu_kdrbdms�rdq_:�cdsdbshnm�ne�
A-�WmsgpWbhr�nq�_msgq_w�snwhm�fdmdr�ax�OBQ:�nq�cdsdbshnm�ne�kdsg_k�e_bsnq�ZKE[�
hm�bkhmhb_k�rdqtl�rodbhldmr�ax�KE�l_rr�rodbsqnldsqx(-�gssor9..mcb-rdquhbdr-bcb-
fnu.b_rd,cdehmhshnmr._msgq_w,1/07.

–�34�B-E-Q-�o_qs�35-0/1’k(’1(*�10�B-E-Q-�o_qs�45:�31�T-R-B-�Rdbs-�130’c(:�4�T-R-B-�
Rdbs-�441_:�33�T-R-B-�Rdbs-�24/0�ds�rdp-

z�Sgd� §@msgq_w�Sqh_mfkd¶� qdoqdrdmsr� sgd� fdnfq_oghb� qdfhnm� ne�Sdw_r�vgdqd�
k_anq_snqx,bnmehqldc�_mhl_k�_msgq_w�b_rdr�_qd�lnrs�eqdptdms�_mc�hr�antmcdc�
ax�sgd�snvmr�ne�D_fkd�O_rr*�Nynm_*�_mc�Tu_kcd-�Bntmshdr�qdoqdrdmsdc�hm�sghr�
qdfhnm�hmbktcd�Bqnbjdss*�Dcv_qcr*�Jhmmdx*�L_udqhbj*�Rtssnm*�Tu_kcd*�U_k�Udqcd*�
_mc�Y_u_k_�bntmshdr-

_mc�rgnvdc�mn�rhfm�ne�chrd_rd-�Ehud�odqrnmr�qdonqsdc�dwonrtqd�
sn� sgd� k_la-�Sgd�o_shdms� _mc�_mnsgdq�odqrnm� rd_rnmdc�_mc�
bnnjdc�sgd�ld_s:�sgd�vdkk,bnnjdc�ld_s�v_r�sgdm�bnmrtldc�
_s�_�ld_k�vhsg�sgqdd�nsgdq�odqrnmr-�@lnmf�sgdrd�ehud�odqrnmr*�
nmkx� sgd� hmcdw�o_shdms� dwghahsdc� rxlosnlr� bnmrhrsdms�vhsg�
bts_mdntr�_msgq_w*�_mc�mnmd�dwodqhdmbdc�rxlosnlr�bnmrhrsdms�
vhsg�f_rsqnhmsdrshm_k�_msgq_w-†
Sgd�o_shdms�v_r�hmhsh_kkx�rddm�ax�_�fdmdq_k�oq_bshshnmdq�nm�

I_mt_qx�0�_mc�bnlldmbdc�_�bntqrd�ne�bdog_kdwhm�enq�dlohqhb�
sqd_sldms�ne� rnes� shrrtd� hmedbshnm-�@msgq_w�v_r�mns� hmhsh_kkx�
rtrodbsdc� _r� sgd� dshnknfx� ne� ghr� rxlosnlr-�@esdq� 2� c_xr� ne�
dlohqhb�_mshahnshb�sgdq_ox�vhsgnts�qdronmrd*�sgd�o_shdms�v_r�
du_kt_sdc� _s� gnrohs_k�@-�@�cds_hkdc� bkhmhb_k� ghrsnqx� _mc� sgd�
o_shdms&r�bkhmhb_k�rhfmr�_mc�rxlosnlr�q_hrdc�sgd�hmcdw�ne�rtr,
ohbhnm�enq�_msgq_w*�_mc�vntmc�rv_ar�_mc�aknnc�vdqd�bnkkdbsdc�
adenqd�hmhsh_shnm�ne�_mshlhbqnah_k�lnmnsgdq_ox�enq�oqdrtldc
mnmrxrsdlhb*� bts_mdntr� _msgq_w-�Sgd�o_shdms� rgnvdc� rhfmr�
ne�rxrsdlhb�hmunkudldms�_mc�ct_k�sgdq_ox�enq�_msgq_w�’bhoqn,
eknw_bhm�_mc�bkhmc_lxbhm(�v_r�hmhsh_sdc�’2(�sgd�r_ld�c_x-�Sgd�
enkknvhmf�lnqmhmf*�gd�v_r�sq_mredqqdc�sn�gnrohs_k�A*�_�k_qfdq�
e_bhkhsx�dpthoodc�enq�_�lnqd�dwsdmrhud�du_kt_shnm�ne�ghr�rdudqd�
dcdl_�_mc�l_k_hrd-�Sgd�Sdw_r�Cdo_qsldms�ne�Rs_sd�Gd_ksg�
Rdquhbdr� K_anq_snqx� odqenqldc� qd_k,shld� onkxldq_rd� bg_hm�
qd_bshnm�’OBQ(�sdrshmf�_mc�btkstqd�eqnl�sgd�o_shdms&r�vntmc�
rv_ar-�Svn�vntmc�rv_ar�vdqd�onrhshud�enq�A-�WmsgpWbhr�CM@))�
ax�qd_k,shld�OBQ:�gnvdudq*�btkstqd�chc�mns�xhdkc�_m�nqf_mhrl�
bnmrhrsdms�vhsg�A-�WmsgpWbhr-�Sgd�o_shdms�qdbnudqdc�_mc�v_r
chrbg_qfdc�_esdq�0�vddj*�nm�I_mt_qx�01-
Sgd� k_la�v_r� rtrodbsdc� sn�ad� sgd� rntqbd�ne� sgd�o_shdms&r�

hkkmdrr� _mc*� hm� khfgs� ne� rtrodbsdc� _msgq_w*� hmsdquhdvr�vdqd�
bnmctbsdc�vhsg� sgd� o_shdms� _mc� ghr� e_lhkx�ldladqr-�Nm�
I_mt_qx� 5� _mc� I_mt_qx� 00*� svn� dvdr� rtardptdmskx� chdc� nm�
sgd�e_ql�vhsg�nbtk_q�_mc�m_r_k�gdlnqqg_fd-�M_r_k�rv_ar�vdqd�
bnkkdbsdc�≥01�gntqr�_esdq�cd_sg�_mc�rdms�sn�sgd�Sdw_r�@%L�
Udsdqhm_qx�Ldchb_k�Ch_fmnrshb� K_anq_snqx enq� btkstqd� enq�
A-� WmsgpWbhr-�Sdrs� qdrtksr� eqnl�ansg� _mhl_kr�vdqd� mdf_shud:�
gnvdudq�_�ghfg�kdudk�ne�bkhmhb_k�_mc�dohcdlhnknfhb�rtrohbhnm�
enq�_msgq_w�qdl_hmdc-�Mn�nsgdq�_mhl_k�cd_sgr�nbbtqqdc�ctqhmf�
sgd�qdl_hmhmf�vhmsdq�rd_rnm-

� †�Rhfmr� _mc� rxlosnlr� ne� f_rsqnhmsdrshm_k� _msgq_w� hmbktcd� edudq� _mc� bghkkr*�
mdbj�rvdkkhmf*�rnqd�sgqn_s*�gn_qrdmdrr*�o_hmetk�rv_kknvhmf*�m_trd_*�unlhshmf*�
ch_qqgd_*�gd_c_bgd*�_acnlhm_k�o_hm*�_mc�_acnlhm_k�chrsdmshnm-�gssor9..vvv-
bcb-fnu._msgq_w._ants.hmcdw-gslk bcb]chrd_rd]a_rhbr]rxlosnlr,rxlosnlr

�))�K_anq_snqx�Qdronmrd�Mdsvnqj“u_khc_sdc�qd_k,shld�OBQ�sdrs�qdrtks�bnmrhcdqdc�
onrhshud�enq�sgd�oqdrdmbd�ne�A-�WmsgpWbhr�CM@�he�_kk� sgqdd�rhfm_stqdr�’A@0*�
A@1*�_mc�A@2(�bqnrr�sgd�sgqdrgnkc�vhsghm�3/�bxbkdr-
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S=AKD-�Shldkhmd�ne�dudmsr�Ymc�chYfmnrshbr�pdkYsdc�sn�hmudrshfYshnm�ne�Ym�YmsgpYw�bYrd�nm�Y�rgddo�eYpl�hm�vhmsdp�¶�SdwYr*�Cdbdladp�1.12§IYmtYpx�1.13-

CYsd Dudms
ChYfmnrshb�sdrs*�rYlokd�np�rntpbd�
’bnkkdbshnm�cYsd(*�knbYshnm�odpenpldc Qdrtks HmsdpopdsYshnm

Cdb 13*�1/12 K_la�cd_sg*�atsbgdqhmf ¶ ¶ ¶
Cdb 14*�1/12 O_shdms�bnmrtldc�bnnjdc�k_la�ld_s ¶ ¶ ¶
I_m�0* 1/13 O_shdms�uhrhsdc fdmdq_k�oq_bshshnmdq ¶ ¶ ¶

Bdog_kdwhm)�4//�lf�odq�nr�’ax�lntsg(�
dudqx�7�gqr�oqdrbqhadc

I_m�3* 1/13 O_shdms�cdudknodc�akhrsdqr*�dcdl_*��
_mc�drbg_q

BAB*�aknnc*�’I_m�3(*�Gnrohs_k�@ Dnrhmnoghkr�bntms�/�0/2.yK�’Qde�<�/fi/-3/( Knvfimnql_k

O_shdms�uhrhsdc�Gnrohs_k @ Dnrhmnoghkr�odqbdms�/-/1#�
’Qde�<�0-//#fi4-//#(

Knv

Rv_ar*�rdqtl*�_mc�aknnc �
btkstqdr�bnkkdbsdc

Dqxsgqnbxsd�LBG�20-1�of�’Qde�<�16-/fi20-/( Mnql_kfighfg

U_mbnlxbhm–�0�f�HU��
dudqx�13�gqr�oqdrbqhadc

Dqxsgqnbxsd�LBGB�25-/�f.cK�
’Qde�<�22-/fi26-/(

Mnql_kfighfg

U_mbnlxbhm–�chrbnmshmtdc Dqxsgqnbxsd�LBU�75-5�eK�’Qde�<�7/-/fi0/4-/( Mnql_k
Bhoqneknw_bhm|�3//�lf�HU��
dudqx�7�gqr�oqdrbqhadc

Dqxsgqnbxsd�bntms�4-10�w�0/5.yK�
’Qde�<�3-1/fi5-0/(

Mnql_k

Bkhmc_lxbhm|�5//�lf�HU��
dudqx�7�gqr�oqdrbqhadc

Gdl_snbqhs�34-0#�’Qde�<�31-/#fi41-/#( Mnql_k
Gdlnfknahm�05-2�f.cK�’Qde�<�03-/fi05-/( Ghfg
Kdtjnbxsdr�bntms�03-54�w�0/2.yK�
’Qde�<�3-7/fi0/-7/(

Ghfg

Kxlognbxsdr�bntms�/-32�0/2.yK�
’Qde�<�0-1/fi2-3/(

Knv

Lnmnbxsdr�bntms�/-28�0/2.yK�
’Qde�<�/-0/fi/-5/(

Mnql_k

Lnmnbxsdr�odqbdms�6-25#�
’Qde�<�0-6/#fi8-2/#(

Mnql_k

LOU�6-/�eK�’Qde�<�6-3fi0/-3( Knv
Mdtsqnoghkr�bntms�02-66�0/2.yK�
’Qde�<�0-3/fi5-4/(

Ghfg

Mdtsqnoghkr�odqbdms�83-/0#�
’Qde�<�31-//#fi64-1/#(

Ghfg

Ok_sdkds�bntms�080�w�0/2.yK�’Qde�<�02/fi3//( Mnql_k
I_m�4*�1/13 O_shdms�sq_mredqqdc�sn�Gnrohs_k�A ¶ ¶ ¶

Rv_ar*�rdqtl*�_mc�aknnc bnkkdbsdc
I_m�5*�1/13 Dvd� 0�cd_sg*�gdlnqqg_fd�eqnl�dxdr�

_mc�mnrd
¶ ¶ ¶

I_m�7*�1/13 ” Btkstqd*�o_shdms�rv_a�’I_m�4(*�Gnrohs_k�A Mn�fqnvsg ¶
Qd_k,shld�OBQ*†�o_shdms�rv_a�’I_m�5(*��
SW�CRGR

Onrhshud ¶

I_m�00*�1/13 Dvd� 1�cd_sg*�gdlnqqg_fd�eqnl�dxdr�
_mc�mnrd

Btkstqd*�o_shdms�rv_a�’I_m�5(*�SW�CRGR Mn�fqnvsg ¶

I_m�01*�1/13 O_shdms�chrbg_qfdc Qd_k,shld�OBQ*†�o_shdms�rv_a�’I_m�3(*��
SW�CRGR

Onrhshud ¶

Rv_ar�bnkkdbsdc�eqnl�ansg�dvdr Btkstqd*�o_shdms�rv_a�’I_m�3(*�SW�CRGR Mn�fqnvsg ¶
I_m�04*�1/13 Bnmu_kdrbdms�rdqtl�bnkkdbsdc�eqnl�

o_shdms
Btkstqd*�dvd� 0�rv_a�’I_m�01(*�SULCK Mn�fqnvsg ¶
Btkstqd*�dvd� 1�rv_a�’I_m�01(*�SULCK Mn�fqnvsg ¶

I_m�2/*�1/13 ¶ DKHR@*))�rdqtl�’I_m�3(*�BCB /�yf.lK ¶
DKHR@*))�rdqtl�’I_m�04(*�BCB 20-3�yf.lK ¶

I_m�20*�1/13 ¶ L_rr�rodbsqnldsqx*––�rdqtl�’I_m�3(*�BCB 00-8�mf.lK ¶
L_rr�rodbsqnldsqx*––�rdqtl�’I_m�04(*�BCB Adknv�khlhs�ne�cdsdbshnm ¶

=aapduhYshnmr9�BAB�<�bnlokdsd�aknnc�bntms:�DKHR@�<�dmyxld,khmjdc�hlltmnrnqadms�_rr_x:�eK�<�edlsnkhsdq�’0/—04�K(:�GBO�<�gd_ksg�b_qd�oqnuhcdq:�HfF�<�hlltmnfknatkhm�F:�
HU�<�hmsq_udmntr:�LBG�<�ld_m�bnqotrbtk_q�gdlnfknahm:�LBGB�<�ld_m�bnqotrbtk_q�gdlnfknahm�bnmbdmsq_shnm:�LBU�<�ld_m�bnqotrbtk_q unktld:�LOU�<�ld_m�
ok_sdkds�unktld:�OBQ�<�onkxldq_rd�bg_hm�qd_bshnm:�of�<�ohbnfq_l�’0/—01�f(:�Qde�<�qdedqdmbd�u_ktd�nq�q_mfd:�SULCK�<�Sdw_r�@%L�Udsdqhm_qx�Ldchb_k�Ch_fmnrshb�
K_anq_snqx: SW CRGR < Sdw_r Cdo_qsldms ne Rs_sd Gd_ksg Rdquhbdr-
) Bdog_knronqhmr�_qd�bnmsq_hmchb_sdc�enq�sgd�sqd_sldms�ne�m_stq_kkx�nbbtqqhmf�AUahiitr�UmsfpUahr�adb_trd�ne�hmsqhmrhb�qdrhrs_mbd-
– Mns�_ooqnudc�ax�sgd�Ennc�_mc�Cqtf�@clhmhrsq_shnm�enq�_msgq_w�onrsdwonrtqd�oqnogxk_whr�nq�sqd_sldms-
| @mshlhbqnah_k�sqd_sldms�enq�rxrsdlhb�_msgq_w�vgdm�ldmhmfhshr�g_r�addm�dwbktcdc�rgntkc�hmbktcd�svn�nq�lnqd�_mshlhbqnah_k�cqtfr�vhsg�_bshuhsx�_f_hmrs�A,�UmsfpUahr2�
nmd nq lnqd rgntkc g_ud a_bsdqhbhc_k _bshuhsx* _mc nmd nq lnqd rgntkc ad _ oqnsdhm rxmsgdrhr hmghahsnq-

† K_anq_snqx�Qdronmrd�Mdsvnqjfiu_khc_sdc�qd_k,shld�OBQ�sdrs�qdrtks�bnmrhcdqdc�onrhshud�enq�sgd�oqdrdmbd�ne�A,�UmsfpUahr�CM@�he�_kk�sgqdd�rhfm_stqdr�’A@0*�A@1*�_mc�
A@2(�bqnrr�sgd�sgqdrgnkc�vhsghm�3/�bxbkdr-

)) @�lnqd�sg_m�entqenkc�qhrd�hm�_msh,oqnsdbshud�_mshfdm�HfF�bnmbdmsq_shnm�adsvddm�sgd�o_hqdc�_btsd�_mc�bnmu_kdrbdms�rdq_�hr�hmchb_shud�ne�rdqnbnmudqrhnm-�He�sgd�_btsd
rdqtl HfF hr ≤2-6 yf.lK* rdqnbnmudqrhnm hr bnmrhcdqdc sn g_ud nbbtqdc he sgd bnmu_kdrbdms rdqtl qdrtks hr lnqd sg_m entqenkc nudq 2-6 yf.lK ’03-7 yf.lK(-

–– Sns_k�kdsg_k�e_bsnq�_bshuhsx�v_r�_m_kxydc�trhmf�l_sqhw,_rrhrsdc�k_rdq�cdrnqoshnm.hnmhy_shnm�shld,ne,ekhfgs�l_rr�rodbsqnldsqx�trhmf�drs_akhrgdc*�Bkhmhb_k�K_anq_snqx�
Hloqnudldms�@ldmcldmsrfi_ooqnudc�_m_kxshb_k�ldsgncr-�Sgdrd�sdrsr�g_ud�mns�addm�bkd_qdc�nq�_ooqnudc�ax�sgd�Ennc�_mc�Cqtf�@clhmhrsq_shnm-�Sgd�odqenql_mbd�
bg_q_bsdqhrshbr�g_ud�addm�drs_akhrgdc�ax�BCB-�Sgd�khlhs�ne�cdsdbshnm�hr�/-//16�mf.lK-�Qdrtksr�enq�rdqtl�_qd�qdonqsdc�hm�mf.lK-
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O_hqdc�rdq_�eqnl�sgd�o_shdms�vdqd�rdms�sn�BCB�sn�ld_rtqd�
_msh,oqnsdbshud�_mshfdm�’O@(�_mshanchdr�_mc�kdsg_k�e_bsnq�’KE(*�
_�snwhm�oqnctbdc�ax�A-�WmsgpWbhr*�trhmf�dmyxld,khmjdc�hllt,
mnrnqadms�_rr_x�’DKHR@(�_mc�l_rr rodbsqnldsqx*�qdrodbshudkx-�
@�lnqd�sg_m�entqenkc�hmbqd_rd�hm�sgd�bnmbdmsq_shnm�ne�_msh,O@�
hlltmnfknatkhm�F––�v_r�mnsdc�adsvddm� rdqtl� rodbhldmr�
bnkkdbsdc�00�c_xr�_o_qs*� hmchb_shmf�dwonrtqd�sn�A-�WmsgpWbhr-�
KE�bnmbdmsq_shnm�v_r�00-8�mf.lK�hm�sgd�_btsd�rdqtl�r_lokd*zz�
nmd�ne�sgd�ghfgdrs�KE�kdudkr�dudq�ld_rtqdc�hm�_�o_shdms�vhsg�
bts_mdntr�_msgq_w�_s�BCB�nq�_mx�nsgdq�knb_shnm�’3(-�Bnnjdc�
ld_s�eqnl�sgd�k_la�v_r�rsnqdc�eqnydm�enq�1�vddjr�_mc�rdms�
sn�BCB�enq�qd_k,shld�OBQ�_mc�btkstqd-�CM@�dwsq_bshnm�v_r�
odqenqldc�nm�sgqdd�rdo_q_sd�rdbshnmr�ne�shrrtdr:�_kk�vdqd�onrhshud�
enq�A-�WmsgpWbhr�ax�qd_k,shld�OBQ�cdrohsd�mn�btkstqd�fqnvsg-

OpdkhlhmYpx�Bnmbktrhnmr�Ymc�=bshnmr
Mnmbtkstqd�sdrshmf�sgqntfg�qd_k,shld�OBQ*�DKHR@*�_mc�l_rr�

rodbsqnldsqx�_s�BCB�K_anq_snqx�Qdronmrd�Mdsvnqj�rhsdr�v_r�
bqhshb_k�sn�bnmehqlhmf�sgd�ch_fmnrhr�ne�_msgq_w�bnmrhcdqhmf�ne�
sgd�tmtrt_k�rd_rnm_khsx�_mc�hm_ahkhsx�sn�btkstqd�A-�WmsgpWbhr-�
Nkcdq�duhcdmbd�rtffdrsr�sg_s�ehqrs,fdmdq_shnm�bdog_knronqhmr�
lhfgs� ad� deedbshud� _f_hmrs�A-� WmsgpWbhr� ’4(� _mc�lhfgs� g_ud�
oqdudmsdc� btkstqd� fqnvsg-�Gnvdudq*� sqd_sldms� ne� m_stq_kkx�
nbbtqqhmf�A-�WmsgpWbhr�vhsg�bdog_knronqhmr�hr�bnmsq_hmchb_sdc�
adb_trd�ne�hmsqhmrhb�qdrhrs_mbd�’2(-�Sghr�o_shdms�qdbnudqdc�nmkx�
_esdq�qdbdhuhmf�sqd_sldms�vhsg�_mshlhbqnah_kr�deedbshud�_f_hmrs�
_msgq_w�’2(-
Sgd� k_bj� ne� btkstqd� fqnvsg� eqnl� sgd� svn� dvdr� bntkc� ad�

_ssqhatsdc� sn� e_bsnqr� hmbktchmf�cdk_xdc� r_lokhmf*� g_mckhmf*�
rsnqhmf*�nq� rghoohmf� rv_ar-�A-�WmsgpWbhr�CM@�v_r�cdsdbsdc�
hm�bnnjdc�ld_s�eqnl�sgd�k_la*�_mc�sgdqd�v_r�mn�btkstqd�duh,
cdmbd�ne�uh_akd�a_bsdqh_�eqnl�sgd�ld_s-�Sgd�hmedbshmf�a_bsdqh_�
onrrhakx�vdqd�hm_bshu_sdc�vgdm�sgd�ld_s�v_r�bnnjdc�_s�ghfg�
sdlodq_stqdr:�gnvdudq*�sgdqd�hr�mn�r_ed�v_x�sn�oqdo_qd�ld_s�enq�
gtl_m�bnmrtloshnm�eqnl�_m�_mhl_k�sg_s�g_r�chdc�ne�_msgq_w-
Sghr�ntsaqd_j�nbbtqqdc�nm�_�e_ql�_ci_bdms�sn�sgd�@msgq_w�

Sqh_mfkd� hm�Sdw_r� _mc�md_q� sgd� knb_shnm� ne� _� 1/08�gtl_m�

––�@�lnqd� sg_m� entqenkc� hmbqd_rd� hm� _msh,O@� hlltmnfknatkhm�F� ’HfF(�
bnmbdmsq_shnm�adsvddm�sgd�o_hqdc�_btsd�_mc�bnmu_kdrbdms�rdq_�hr�hmchb_shud�ne�
_�rdqnbnmudqrhnm-�He�sgd�_btsd�rdqtl�HfF�hr�ü2-6�zf.lK*�rdqnbnmudqrhnm�hr�
duhcdms� he� sgd�bnmu_kdrbdms� rdqtl�qdrtks� hmbqd_rdr�lnqd� sg_m� entqenkc�nudq�
2-6�zf.lK�’03-7�zf.lK(-

zz�Sns_k�KE�_bshuhsx�v_r�_m_kxydc�trhmf�l_sqhw,_rrhrsdc�k_rdq�cdrnqoshnm.hnmhy_shnm�
shld,ne,ekhfgs�l_rr� rodbsqnldsqx� trhmf� drs_akhrgdc*�Bkhmhb_k� K_anq_snqx�
Hloqnudldms�@ldmcldmsr“_ooqnudc�_m_kxshb_k�ldsgncr-�Sgdrd�sdrsr�g_ud�
mns�addm�bkd_qdc�nq�_ooqnudc�ax�sgd�Ennc�_mc�Cqtf�@clhmhrsq_shnm-�Sgd�
odqenql_mbd� bg_q_bsdqhrshbr� g_ud� addm� drs_akhrgdc� ax�BCB-�Sgd� khlhs� ne�
cdsdbshnm�hr�/-//16�mf.lK-�Qdrtksr�enq�rdqtl�_qd�qdonqsdc�hm�mf.lK

RtllYpx

Vg_s�hr�_kqd_cx�jmnvm�_ants�sghr�snohb=

@msgq_w�hr�_�ynnmnshb�chrd_rd-�Hm�Mnqsg�@ldqhb_*�b_rdr�_lnmf�
gtl_mr�trt_kkx�enkknv�ronq_chb�_mhl_k�ntsaqd_jr�ctqhmf�sgd�
gns*�cqx�rtlldq�lnmsgr-

Vg_s�hr�_ccdc�ax�sghr�qdonqs=

@m�tmdwodbsdc�_msgq_w�ntsaqd_j�nbbtqqdc�ctqhmf�vhmsdq�hm�_�
Sdw_r�bntmsx�_ci_bdms�sn�sgd�@msgq_w�Sqh_mfkd*�_�qdfhnm�vhsg�
dmynnshb�_msgq_w-�Bnmehql_snqx�mnmbtkstqd�duhcdmbd�ne�AUahiitr�
UmsfpUahr�hmedbshnm�v_r�hcdmshehdc�hm�_�k_la�_mc�_�rxlosnl_shb�
o_shdms�vgn�oqdo_qdc�hsr�ld_s�enq�bnmrtloshnm-

Vg_s�_qd�sgd�hlokhb_shnmr�enq�otakhb�gd_ksg�oq_bshbd=

Qntshmd�_msgq_w�u_bbhm_shnm�ne�_mhl_kr�hr�mddcdc�hm�sghr�
fdnfq_oghb�qdfhnm�vhsg�jmnvm�dmynnshb�_msgq_w-�Oqnbdrrhmf�
_mhl_kr�sg_s�chd�rtccdmkx�eqnl�tmjmnvm�b_trdr�rgntkc�ad�
_unhcdc*�hqqdrodbshud�ne�sgd�rd_rnm-

bts_mdntr�_msgq_w�b_rd�sg_s�v_r�_rrnbh_sdc�vhsg�_m�ntsaqd_j�
hm�_mhl_kr*�vghbg�hmbktcdc�14�btkstqd,onrhshud�_mhl_k�b_rdr�
’1(-�Hm�ansg�sgd�1/08�b_rd�_mc�sgd�btqqdms�b_rd*�sgd�o_shdmsr�
qdonqsdc�chqdbs�rjhm�dwonrtqd�sn�_mhl_k�b_qb_rrdr*�dlog_rhyhmf�
sgd�hlonqs_mbd�ne�_unhchmf�oqnbdrrhmf�b_qb_rrdr�ne�_mhl_kr�sg_s�
tmdwodbsdckx�chd�ne�tmjmnvm�b_trdr�hm�sghr�qdfhnm�qdf_qckdrr�
ne�sgd�rd_rnm-�He�_mhl_kr�ltrs�ad�lnudc*�odqrnm_k�oqnsdbshud
dptholdms�rgntkc�ad�vnqm-�Sgdqd�v_r�mn�bkd_q�ghrsnqx�ne�qnt,
shmd�u_bbhm_shnm�_f_hmrs�_msgq_w�enq�sghr�gdqc*�nq�vgdsgdq�sgd�
qdl_hmhmf�gdqc�v_r�u_bbhm_sdc�_esdq�sgd�sgqdd�_mhl_k�cd_sgr-�
Bnmbdqmr�_ants�u_bbhmd,_rrnbh_sdc�_cudqrd�dudmsr�_lnmf�fn_sr�
_mc�gnqrdr�vdqd�oqduhntrkx�qdonqsdc�hm�sghr�_qd_�’1(*�_mc�qntshmd�
_mhl_k�u_bbhm_shnm�qdl_hmr�drrdmsh_k�hm�oqdudmshmf�_msgq_w�hm
_mhl_kr�_mc�rtardptdms�rohkknudq�hmsn�gtl_mr�’0(-�

=bjmnvkdcfldms

Sdqqx� R-�Gdmrkdx*�Sdw_r�@%L�Udsdqhm_qx�Ldchb_k�Ch_fmnrshb�
K_anq_snqx-
Bnqqdronmchmf�_tsgnq9�B_qh�@-�Addrkdx*�esr2>bcb-fnu-

� 0Chuhrhnm�ne�Ghfg,Bnmrdptdmbd�O_sgnfdmr�_mc�O_sgnknfx*�M_shnm_k�Bdmsdqr�
enq�Dldqfhmf�_mc�Ynnmnshb�Hmedbshntr�Chrd_rdr*�BCB:�1Dohcdlhb�Hmsdkkhfdmbd
Rdquhbd*�BCB:� 2Sdw_r�Cdo_qsldms� ne� Rs_sd�Gd_ksg� Rdquhbdr:� 3Chuhrhnm� ne
K_anq_snqx�Rbhdmbdr*�M_shnm_k�Bdmsdq�enq�Dmuhqnmldms_k�Gd_ksg*�BCB-

@kk� _tsgnqr g_ud� bnlokdsdc� _mc� rtalhssdc� sgd� Hmsdqm_shnm_k�
Bnllhssdd� ne�Ldchb_k� Intqm_k� Dchsnqr� enql� enq� chrbknrtqd� ne�
onsdmsh_k� bnmekhbsr�ne� hmsdqdrs-�Dqhm�Rv_mdx� qdonqsr� sq_udk� rtoonqs�
eqnl�sgd�@rrnbh_shnm�ne�Otakhb�Gd_ksg�K_anq_snqhdr�_mc�sgd�Sdw_r�
Cdo_qsldms�ne�Rs_sd�Gd_ksg�Rdquhbdr-�Mn�nsgdq�onsdmsh_k�bnmekhbsr�
ne�hmsdqdrs�vdqd�chrbknrdc-
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Qdedpdmbdr

0-�Rg_cnlx�RU*�RlhsgSK-�Ynnmnrhr�toc_sd-�@msgq_w-�I�@l�Uds�Ldc�@rrnb�
1//7:122952“61- OLHC907482202� gssor9..cnh-nqf.0/-135/.
i_ul_-122-0-52

1-�Rhcv_�S*�R_kydq�IR*�Sq_wkdq�Q*�ds�_k-�Bnmsqnk�_mc�oqdudmshnm�ne�_msgq_w*�
Sdw_r*�TR@*�1/08-�Dldqf�Hmedbs�Chr�1/1/:1591704“13-�OLHC922108532�
gssor9..cnh-nqf.0/-21/0.dhc1501-1//36/

2-�Anvdq�V@*�Xt�X*�Odqrnm�LJ*�ds�_k-�BCB�fthcdkhmdr�enq�sgd�oqdudmshnm�_mc�
sqd_sldms�ne�_msgq_w*�1/12-�LLVQ�Qdbnll�Qdo�1/12:61’Mn-�QQ,5(9�
0“36-�OLHC926852/86�gssor9..cnh-nqf.0/-04474.llvq-qq61/5_0

3-�Anxdq�@D*�Pthmm�BO*�Addrkdx�B@*�ds�_k-�Kdsg_k�e_bsnq�snwdlh_�_mc�_msh,
oqnsdbshud� _mshfdm� _mshancx� _bshuhsx� hm� m_stq_kkx� _bpthqdc� bts_mdntr�
_msgq_w-�I�Hmedbs�Chr�1/00:1/390210“6-�OLHC9108/7616�gssor9..cnh-
nqf.0/-0/82.hmechr.ihq432

4-�Rv_qsy�LM-�Qdbnfmhshnm�_mc�l_m_fdldms�ne�_msgq_w”_m�toc_sd-�M�
Dmfk�I�Ldc�1//0:23490510“5-�OLHC9006/3575�gssor9..cnh-nqf.0/-0/45.
MDILq_/01781
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